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THE OPEN UNIVERSITY OF SRI LANKA

ADVANCED CERTIFICATE IN K ENTRLPRFNEURSHIP AND SMALL BUbINESS
MANAGEMENT PROGRAMME

FINAL EXAMINATION — 2620

MCC 1103/ MSC 2303 - BASIC MATHEMATICS AND STATISTICS

DURATION: TWO (02) HOURS

LDATE: 22.02.2020

TIME: 10.60 am — 12.00 noon J

Answer ALL questions.
Use of a non programmable calcualator is allowed.

Question 1

a) Solve the following equations for X:

() 9(3X-5)=502X¢+]) (3 marks)
(i) SX/d+ % =2X - 112 (3 marks)

b} Solve the expression: | (3 — 6%+ 9y * 27 - (2 marks)

b) Solve the simultancous equations: 3X—14Y=0 and X—4Y+1=0 (5 marks)

¢) Ifx=-2,y=2andz=3, then find the value of the [ollowing expression.

2x% -1
(yz_l)_x3 Z1) (3 marks)
(3+1)

d) A person divides LKR 8000 among threc workers so that the second will have twice as much
as the first, and the third wiil have LKR 500 less than the second. Find the amounts that each
worker get separately. (5 marks)

e) The sum of twice the cost of a box of biscuits and the cost of a box of chocolates is LKR 80.
The difference between the cost of a box of chocolates and the cost of a box of biscuits is
LKR 10 (Note that the cost of a box of biscuits is greater than the cost of a box of
chocolates). Find the cost of each. (4 marks)

(Yotal 25 marks)

Question 2

a} Find the solution of X? -6X +3 =0 (5 marks)

b} Plot the graph for Y = X* —6X + 3 in a graph paper for the x values range from -1 to 6.

(8 marks)

¢) Plot the graph for Y =-2X + 3 in the same graph paper for the x values range from -1 to 6.

(8 marks)

d) Using the above graphs, tind the intersection points of the two equations above. (4 marks)

” (Total 25 marks)




Question 3

An inspector visits a large company to check their vehicles. The company has 10 heavy vehicles,
129 light vans and 21 cars. The inspector decides to sample 10% of the vehicles.

a)  What are the population size and the sample size? (3 marks)
b)  Explain how you can pick a simple random sample of the vehicles. (6 marks)
c)  Explain how you can selcct a stratificd sample of the vehicles. (10 marks)
d)  Explain how you obtain a systematic sample of the vehicles. (6 marks)

(Total 25 marks)

Question 4

The table below gives the ratings of top 120 movics released last year.

| Rating (out of 10) | Number of movies
Supto6 ) 16
6upto7 ' 14

| 7upto8 15
Supto9 45 |
upto 10 30

a) Construct the following for the above data.
(i) Pie chart (8 marks)
(i1} Histogram (5 marks)

b) Calculate the following measures for the above data.

(1) Mean (4 marks)
(it} Median (3 marks)
(iii) Mode (3 marks)

¢) Using the above answers, explain the properties of movies released during the vear. (2 marks)
(Total 25 marks)
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